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RAVE 16i=6 2fi=5 3fi=4 4{i=3 B8=2 B16=1 (3R%L4=3)
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=t K% A A |=easri Point| #2464 Point| B4%:2; Point| IR4K i Point|v27%#} Point| ###k Point| Xi¥% Point| ®5¥:2; Point| & &t
U E=E37 2 |EEZE | 2 5 2 5 1 6 1 6 1 6 2 5 2 5 2 5 43
2|1FHE FIx 2 |HEEFE 1 6 4 3 2 5 4 3 2 5 1 6 1 6 1 6 40
3jum F1E 2 |#EEFE | 8 2 8 2 8 2 2 5| 16 | 1 4 3 8 2 8 2 19
3|mH ERATF| 1 |[#HEEF 3 4 8 2 4 3 8 2| 16 ;1 4 3 3 4 19
5|1% HIH 2 |srtwx| 4 3| 16 1 8 2 8 2 | 16 i 1 8 2 | 16 i 1 8 2 14
s|Fi &R Y 1 [ERE | 16 0 1 16 : 1| 16 i 1 4 3 3 4| 8 2 12
T|& o 1 |REN 8 2 16 | 1 8 2 | 16 1 8 2 | 16 i 1 8 2 11
8|E L &3 2 |BE®E | 16 | 1 16 i 1 8 2 8 2 8 2 | 16 | 1 9
8|#lE EF 1 |#EZ | 16 | 1 16 i 1 8 2 | 16 i 1 16 i 1 16 i 1 8 2 9
8|iak b4 1 |#EER 8 2 16 ;1 8 2 | 16 1 1 4 3 9
11|ge) FF 2 | 16 : 1 16 : 1| 16 1 [ 16: 1] 16 1|16 : 1] 16 i 1 7
12|ILA F#k 2 (iR 16§ 1 16 i 1 16 i 1 16§ 1 16§ 1 5
13|#3 ENE 2 |RIE 16§ 1 16 i 1 16 i 1 16 i 1 4
1Bk =& 2 [T 16§ 1 8 2 16 i 1 4
L] (1T N3 2 |EEE | 8 2 16 1 1 3
15|l HER 1 |kA®R | 16 1 16 i 1 16 i 1 3
17|&EHN BE 2 |Emedew 16 i 1 16 : 1 2
18|FH # 2 |RERR 16 i 1 1
18|FEH EF 2 [kAE | 16 ;1 1
18|#% EE 2 |EER 16 1 1
18|8H UMB | 2 [ERK 16 ¢ 1 1
18|RE #HE 2 |ER=E 16 i 1 1
18|= BRE| 2 |[AW 16§ 1 1
18| S 2 [ERRK 16 i 1 1
18| K FE 2 |EE-d-#i 16 1 1
18|1E% BRXE| 2 [EXKE 16 i 1 1
18I & 2 |mRedes 16 1 1
18lEs HmY | 1 |zom s 16 1 1
18| L% BE IR 16§ 1 1
18|lUR FidE 1 |mmsmms 16 i 1 1
18K EE 1 | R 16 i 1 1




